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Solve-Quadratic Equatlons by
the Quadratic Formula

{qui‘g_fvf - Solve quadratic equations using the quadratic

formula.
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Your Notes : The
' THE QUADRATIC FORMULA Discr mineat
| TR 1 and tetts the
v The solutions of the quadratic equation o r 2 o4 50LUTIONS
STRADARD . - ~b + \b2 — 4ac)
' C_Q'E ' ,'-’[ax2+bx+c—0é3rex— 2a = JWhena¢0
' and b2 — 4ac = 0. y-4 Quad -
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Example 1. Solve a quadratlc equatlon
Solve 2x2 — 5 = 3Xx. &—— To SOE Uy \Tw QF PUT INTU
- 2x2 -5 = 3x erte original equation. [
= T3x -~ X - _
] Lx -3Ix —5 = o _<_—_——-_—-erte in standardform’A_x,__‘_e’x_\_c=O _
—b *+ Vp2 —
: X= D 2b e Quadratic formula
e a — TR —
Lot 4 Substitute values )
. X = <." 3)= (5 ) "fkab(-b> in the quadratic
formula: a = ) |
a (33 b= — j , and
c=—5
Y Simplify;;:.
. Check your solution X= 3249 Simplify the )
by graphing the 1 square root.
related function -
and finding the ’> X = 3 iy —I SpPLI T
X-intercepts. ' N
The solutions are X = 3+7 an e __33_‘__':’
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@ Checkpoint Complete the following exercises.

1. Use the quadratic forfnula to solve 2x2 + x = 3.
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Your Notes : _;_"-Examplea \ Use the quadratic formula
Crabbmg A crabbing net is thrown from a bridge, which
is 35 feet above the water If the net's initial velocity is
K&" , 10 feet per second, how long wnll it take the net to hit
. _ the water?

Solution : .

. The net's initial velocity is v = - 1O - feet per second and
the nets initial height is s = 35 feet The net will hit

~ the water when the helg‘ht is O feet .

h = —16t2 + yt + S {——————Vertlcal mutlon model ( Mem & z.e)

LansS

" STARRTING

SH:\(M? : \-_\-=o{*\- !_O_'= —16t2 + lO t + 35 \ Substltute for h; v, and s.
S 35y : &“e Substltute values

+ . in the quadratlc
- —Jo.l -4(-

V= IO "'\'/Sec. '7‘_'. = 7l J/oo 4(219(s) formula:

' 3 2("‘6) a=-lG '
'_rlf"».f—-‘ C 6 h=_Jo ,and :

c= 25 . )

+ = —lo2]asvo
32 - \impﬁfy.
-' \

(B‘ecaus;etlme W / \ RO‘“"D AT THE ’E;_EP, ;

cannot be a =_|o+52.3‘-to ]__""
'| negative-number, L t — i = :_L_b_~__33_1_° ~ A\g
disregard the - -3 Q- Seape= - 3L Qosed o A De v e
"negative solution. — o e
: : . - A '
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[
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(v Checkpomt Complete the fnllowmg exermses Thea €5 - 001 M0 v/

2. ln Example 2, suppose the net was '.thro.w‘-n with an =~ KL
initial velocity of 5 feet per second from a height of V=5 £ /sec
20 feet. How long would it take the netto hitthe =~ S=Jo %+

water” : —
=~ EQ:0=-leT"4ST 420 =8

SebLv & _5‘+ mh)’_?,u)

A=-16 2(~16)
= = -5 +1 308 —
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Your Notes @

Choose a solution method .

Tell: what method(s) you would use to! solve the

quadratic equatmn Explain your choice(s).
[a)6x2 —11x + 7 =0 @4;;2——36=0'

Solution .

a. The quadratic equation (avn oT be factored easily
and: completmg the square would result in M any 3
F&acrions . So, the equation can be solved using

the._ Quapeatic r“nzmum

l:(a‘he .quadratic equation can be solved using SQUAR €
Roots because the equation can be written in the

form x2 = d. oa.@ This is an €edy -Qc..gjmr
(2x -6 (;Jx L) =0

METHODS FOR SOLVING QUADRA‘I’IC EQUATIONS
Methods When to Use
d) Factormg Use when a quadratic equation can be Ve ( ).+9)( X+43) =O
-~ Fhcoeed easily. Ex: Xx1+Sx+6=0 K=-2,-3)
~ ) . . Y
d|) Graphing Use when Qpproximcte. solutions are _
@ adequate. The Sb\d‘l\‘dt\} avre tae, X-infrcefts, «\1;1*
@) Finding Use when solving an equatlon that can » EXx 4x*=\00
" square roots be written in the form X* ] IXL=LE
) 6) Completing  Can be used for any quadratlc equation ( K=r‘9
- 7| the square. “ax? i+ bx'+ ¢ = 0 but is Stmplest to apply | Twis is A
when A = | andbisan EVen number. €] Difficotr
@) Quadratic - Can be used for /i quadratic equation. METHO;
formula : '

*“& pro bleam .

—3'5

(v Checkpomt Complete the following exerclse

3. Tell what method(s) you would use to solve
x2 + 8x = 9. Explain your choices(s).

OP‘n'o?Q 5_ EasN - O FAcTOZ
X+ gx -4 =0

Cx+°*)(x \\'0
Lomplete Yo s@um.&,

X +4)5=9q ¢y
(x +4) .

oOPTTon Z

(k= k1)



